QUIZ LICYTACYJNY Nr. 9 — punktacja rozdan

1. 2. 3. 4. 5.
6% - 10 3BA - 8 44 -8 49 -7 26 -6
4BA- 8 49 -8 3BA - 4 3BA - 6 e -4
S - 7 v -1 s -3 L ZN) 1BA - 4
4 - 4 6h -2 20 -3
2BA - 1 . | 2BA - 1
.7 T 49 -1 46 -1
4BA - 1 3¢ -1
6. 7. 8. 9, 10.
6 - 16 6BA - 10 3BA - 6 3BA - 8 49 -8
76 - 10 6% - 10 2BA - 4 4BA - 6 44 -6
7BA - 8 SBA - 8 3k -4 49 -6 59 -4
4BA - 4 59 - 8 26 -3 59 -2 39 -1
S - 4 .7 S SBA - 2 .7 J|
6¢ - 4 46 -1 2BA - 1
7¢ - 4 4% -1 <3 20NN
6BA - 2 Sk -1
11. 12. 13. 14. 15.
49 -6 3BA - 6 446 -8 3BA - 7 66 - 14
¥ -5 4BA - 4 L 2BA - 5 7¢ - 10
1BA -3 2BA -3 6 -1 4BA - 4 5¢ -2
36 -3 e -1 26 -4 4BA - 2
29 -2 5¢ -1 46 -3
46 -1 3 BA(E)- 1 e -3
56 -1 3¢ -3
16. 17. 18. 19. 20.
46 -8 3BA - 6 1BA -5 46 -8 3BA - 7
4BA -7 2BA - 4 2BA - 4 S ) S% -5
SBA - 4 29 -4 3k -4 < T 2BA -3
se -3 26 -3 3BA - 3 3BA - 1 49 -2
< N v -2 26 -3 29 -2
2BA - 1 20 -2 4% -2 4% -2
.7 J .7 S i3 2|
3¢ -1 6 - 1
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4BA - 8
SBA - 4
46 -3
5¢ -3
2BA -1
6 BA -1
34 1
4¢ 1
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49
3¥
3¢
2BA -
3 BA(E)- 3
3 BA(W)-2
40 -2
56 -2
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3BAGE) - 8
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2BA -1
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4¢ -1
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6¢ - 14
6V - 3
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3BA - 4
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3BA -
4 BA -
ih -

2BA -
26 -
3¢ -
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38.

49 (B) -8
4 (B) -7
49 (W) -6
46 (W) -6
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3 BA -
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2BA -
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4 BA -
5BA -
i -
50 -
S -
2BA -
A -
60 -

34.

3 BA -
1 BA -
29 -
2 BA -
v -
4V -
2¢ -
26 -
3¢ -
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SBA -
6 BA -
44
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1 BA -
2 BA -
29 -
3 BA -
26 -
v -
36 -
4V -

30.

3BA -
4BA -
5BA -
50 -
i -
2BA -
60 -
46 -
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3BA -
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26 -
3¢ -

40.

1 BA -
2 BA -
3 BA -
26 -
36 -
26 -
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